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_B.Tech- 11l SEMESTER )
nthesis (ECP 305
Time: 3 1our, Circuit Analysis and Sy ( Ma
Instructiong L leis compulsory to answer gl the questions (1.5 marks each) of Part -A in short.
2. Answer any four questions from Part -B in detail
3. Different Sub-parts of a question are to be attempted adjacent to each other.
: PART -A
Q @) Stage ompensation theorery When is the use of this theorem preferred in solution of ac (1.5)
Networks?
() In what TSPeCts are KirchofPs Jaws as applicable to ac circuits different from those for (1.5)
de circuitg?
() How is the concept of transfer function important in system studies? d (1.5)
d > i WE L 2(s+1
(d) Determine the initial vajye Sf(07),ifF(s) =sszT:+)5
(¢) Draw the Cquivalent circuit of 5 tWo port network in terms of Z-parameters (15)
()~ Derive the condition for reciprocity in case of T-parameters (1.5)
(g) List the network functions of 3 tWo port network. (1.5)
(h) Obtain the Pole zero plot of the following function S =coswt - (1.5)
(i) What are the units of attenuation? @5y .
() Define all the parameters of a filter.

PART -B

Q2 (a) Obtain the h-pargmeters of the network in terms of all other Parameters,

(b) The network of Fig. 4 contains both
source. For the element vahie_s'givzen

+

a dependent current so!

_umeandadependentvol 7.5
,detelminetheYandeuameters. S 2.




i ~ (b) State and prove time shiﬂingtheommoﬂ;aplau

Find Z1(5), Ga(s)
the Circuit of F ig.v;ecn P
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Qs ys 192 circuit o
~ (a) ?‘ermi“e the vnl‘&gcs of nodes m and n with ftw z reference in the circui dﬁ.—; (7'3
SINg noda) analysis, Use matrix approach.
Be L0°
(b) State Superposition th

€orem as applied for ac circujt. Determine current I in Fig.4, using (7.5)
SUperposition theorem.
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5LQ'V+% I*”"T’ j

"
= 62.5mF.The initial conditions are v.(0+) (7.5)

F,‘
Q6 (a) In the circuit of Fig.5,L=2H,R=120 ande
=100V and iL(0+) = 1.0A. The

switch is closed at t=0. Find i(t) using Laplace transform
and partial fraction expansion. 3

Fig.5

~ of the following function: f{t) = e sint.



